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2 82,000 0 82,000
307 21201 & 243,000 0 243,000
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S0AE =5 1,164,696 242,376 922,320
2 37,602 0 37,692
= 15,390 15,390 0
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z 19,800 0 19,800
2020 SAE AEMSA 120,000 0 120,000
= 36,000 0 36,000
2 84,000 0 84,000
402 212t Xt2 01 & 120,000 0 120,000
= 36,000 0 36,000




2A: S2SH=22 0
M 2P
CHel: AN ER (&2 d &)
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Hns2
= 84,000 0 84,000
02 DIZFXIE2AIE E X (0IETHE ) 120,000 0 120,000
020208 SAE Al HE AL
60,000,000& *2H 2~ 120,000 0 120,000
T 36,000 0 36,000
= 84,000 0 84,000
Xelard 22X Of e 685,829 641,829 44,000
& 222,000 200,000 22,000
= 463,829 441,829 22,000
SEYUZOUMATS (B HEU2t S22 HES A 444,000 400,000 44,000
o)
T 222,000 200,000 22,000
iy 222,000 200,000 22,000
308 XX S M SO0l & 444,000 400,000 44,000
T 222,000 200,000 22,000
iy 222,000 200,000 22,000
07 AIXISHH2EE 2 444,000 400,000 44,000
OEHUZHHMAH RS (B HE2 S22 Z
3 AFY) 444,000 400,000 44,000
& 222,000 200,000 22,000
= 222,000 200,000 22,000
2t 2 At 114,000 100,000 14,000
= 8,000 0 8,000
= 106,000 100,000 6,000
22O AN 114,000 100,000 14,000
= 8,000 0 8,000
iy 106,000 100,000 6,000
OFEE HMIAMAIL HES N 14,000 0 14,000
= 8,000 0 8,000
= 6,000 0 6,000
402 QI2HXH 201 A 14,000 0 14,000
= 8,000 0 8,000
= 6,000 0 6,000
02 DIZFXIE2AIEEXZ(0IETHE ) 14,000 0 14,000
OO0IGEHUHMAMAILE HES XS AMS 14,000 0 14,000
= 8,000 0 8,000
= 6,000 0 6,000
NASsH &5 1,276,483 1,155,623 120,860
T 12,000 12,000 0
= 1,264,483 1,143,623 120,860
=R 243 2 22 =3 1,146,483 1,025,623 120,860
= 12,000 12,000 0
iy 1,134,483 1,013,623 120,860
EHIE FH Lo 22,476 23,616 A1,140
201 LEt2 9| 15,696 15,096 600
01 AFR2t2l Yl 7,000 6,400 600




AN 2o MS2Z
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SA - BAEN) - NRAY - LS 0l &F 24 o1E o HRE2
oSt =220l A= 8,000 6% *62 52 3,000 2,400 600
202 018l 6,780 8,520 A1,740
01 24018l 6,780 8,520 A1,740
OZHZE 942 =7 3,900 5,220 A1,320
~ =NFEY A2 =7
100,000 *3 *117H & 3,300 4,320 A1,020
— ENIE TFY Y2 =W
100,000 *3% *2H 2 600 900 A300
OEFAZ SH #X 02 oft]
60,0002 624 *32 1,080 1,500 A420
ey ALY =X XL 1,050,000 920,000 130,000
307 £12+0| & 1,050,000 920,000 130,000
04 DI ATAIRIE T 1,050,000 920,000 130,000
ORB+EHLYMNTBRER N 1,050,000 920,000 130,000
O &2 X A 0 8,000 8,000
307 £12+0| & 0 8,000 £8,000
R EEES 0 8,000 8,000
O Ze =H 14 0 8,000 8,000
HEES(SHHMS BB 98,903 0 98,903
S E 98,903 0 98,903
SHENE 98,903 0 98,903
802 Btk 2 JI Ef 98,903 0 98,903
BEFEEETTEE! 65,024 0 65,024
020188 AZ=AHOISA UMY BRI
2 OIT gy 1,008 2 0 2
020199 ST T FUIAY ZBFA (2
i) 1,775,3002 1,776 0 1,776
020198 28T SHLIE FUIAIZ O Kty
65,7802 166 0 166
020198 HEAZ SUAAH 7E ol zok
35,0002 135 0 135
020188 HEAME BHHY BT
800,0002 800 0 800
020198 HEAZ SWAAY ST DT
o 6270002 627 0 627
020198 2OINB ST (5) ZH T
54,751,200% 54,752 0 54,752
020198 FHABD SYAAHY ST DT
o 451,830% 452 0 452
020193 F4+8D AAFYH 2 FHF Y
2,191,6102 2,192 0 2,192
020198 012 A MBS KSR (B ST )
At REOH whut 1,929, 4202 1,930 0 1,930




2N 2EMs22Z
M WREs (S22
ol BEXE (chel & 9l)
SA-ZH () - HRAY - BES Off &4 JEH Husz
020193 LUBrMEH SIS XHUE X (2 S X&) At
S Ol X+ BHef 13,730& 14 0 14
020198 HEAMEUS X NIX (2SXH)
A Ol AL BHE 13,980& 14 0 14
020198 ZHEANXNAEL 2K ALY Ol X
=1 70& 1 0 1
O2018E X HMISHSA Ol X+ B
33,850& 34 0 34
020198 XSS A Ol X+ gy
75,7203 76 0 76
020198 2Z U MARS AtY ZH TN BHe
2,052,600 2,053 0 2,053
02 Al - EHIEXZSEHEZ 33,879 0 33,879
020198 ME 25 =S3 LAY 0IX
12,980& 13 0 13
02019d 242 = MSII0F SHOIY SN U2
T3 &N 115,500& 116 0 116
020198 HA2EM2d 2N ZHEXS BtY
637,090& 638 0 638
020198 E=II0F2atR e XZ0l 2 ZHIO0|
PNR=I= 7,690& 8 0 8
OXMSMEBEAANE XNFAMNY ZHEEXS EHY
1,779,400 1,780 0 1,780
020194 Z 3t HLHEH AHIALY S H|&HH
1,180,320 1,181 0 1,181
020194 2NXNH IS M(BH) SH &N
12,032,400& 12,033 0 12,033
O2019¢ H=gw LMHEH RS2+ TH &N
58,100& 59 0 59
02019¢ oM AHIY 2 THIEH 657,480 658 0 658
020199 SXNE 2 23l SHEXS &
SH Kt oH 11,462,550 11,463 0 11,463
020198 SRISM Sg2ele 29 ZHigtY
= 18,540& 19 0 19
020194 HMSALE LTHAIAEY PF TH &
67,500& 68 0 68
020194 HSAHE LTHAIAE RAES SHE
o 313,500& 314 0 314
02018 HMSAIE E+FHl ZH &N
400,000& 400 0 400
020194 Al=0t2 &2 =M X3 Mg =l
Ol &t gre 2,230& 3 0 3
0201948 &=+ 37E 7 &N Bty
200,000& 200 0 200
020198 SAUSF WA ALY OIA Bty
1,070& 2 0 2
02019 MER=ss50leld XJAAY Ol A gt
=1 2,310& 3 0 3
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